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a) Pemuure ypaBHeHHe;

0) Hailiqure Bce KOpHU NMPUHAISIKAIIME TTPOMEXKYTKY.

1B. a)

12B. a)

. 2 .
sin“x+smx—2=0;

tg2x+(l+\/§)tgx+\/§:0;

23B. a) (3tg2x —~ 1)[cosx - %} =0;

258B. a)

34B. a)

44B. a)

49B. a)

sinx —+/3cosx=0;

2sin’2x —5sin2x cos2x +2cos’2x =0

sin £+2x + COS £—2x =0;
2 2

3

1 .
—cosx——sinx=1;
2 2

53B.a) cosxcos3x—sinxsin3x=sin4x;

56B.a) sin’x—cos’x= %;

65B. a) sin2x ++/2sinx =2cosx+~/2

70B. a) sinx+ [cosf —sin fj(cosf +sin EJ =0;
2 2 2 2

98B. a) 2sin’ x + \Esin[x - %] =CcosXx;

6) [0:27]




